AW [BY S5 R]

2025 £ 9 A 28 B (H)

A% BHDCP FTHUHIPR -

HDCPLER:  (5) (%)

2 Lh-b:

79h 1y

==

[[:%iva BHEES g 79h | 4Y |GROSS| HDCP | NET
B BEF LS 38] 42| 80| 12.5 67.5
B AL A7 42| 43| 85/ 16.5 68.5
ML FRHF KE 40 46| 86| 17.5 68.5
A [#HI FEEL 44 54 98] 27.7 70.3
b Ak HEH 43| 46| 89| 18.5 70.5
66 |[RE FA 49] 48] 97| 25.5 71.5
6 [k —# 44 43| 87| 15.5 71.5
8L BT X 42| 42| 84/ 12.5 T1.5
ofi 2@ Mk A7 48] 95/ 22.7 72.3
1062 B0 FA A5 47 92/ 19.7 72.3
1 [FK BE 46] 46| 92 19.5 72.5
1262 [IL4E  BX 53] 48| 101 27.7 73.3
131 | &F ZHA| 46] 46| 92| 18.5 73.5
1451 |hi FH 42| 44| 86| 12.5 73.5
156 [FR B 44 51 95/ 21.5 73.5
1662 |18 18 42| 44] 86| 11.8] 74.2
171 =K BB 45| 45 90| 15.5 74.5
181 | KIE & 45| 48] 93] 18.5 74.5
196 % BF 48] 51| 99| 24.5 745
2061 [HA BEA A7 49| 96| 20.7 75.3
2161 Ak EA 45| 53] 98] 22.7 75.3
22061 |FEF EX A7 48] 95/ 19.5 75.5
2361 Ak fLEB 43 47| 90| 14.5 75.5
061 | BFR FE 45 50/ 95/ 19.5 75.5
2561 [ K% ®= 46] 54/ 100 24.5 75.5
2661 MBS #E 50 49| 99| 21.5 71.5
2761 |28k RE A7 49| 96| 18.5 71.5
2861 |FEH HZ 43 49| 92| 14.5 71.5
2961 AT EX 49| 45| 94 15.5 78.5
062 [ ER 49] 49| 98] 17.8] 80.2
L (Bl EH 54/ 56| 110/ 28.5 81.5
3261 (gl Bk 45| 54| 99 17.5 81.5
L [HE EF 43 56| 99| 16.5 82.5
ML [ B 47] 58] 105 21.7 83.3
BhL [HE FX 48] 48] 96| 12.5 83.5
366 AR EF 53] 54| 107| 22.6| 84.4
36 | Kk =E 47| 58] 105/ 20.5 84.5
38HL [HA E—EF 55| 58] 113] 25.5 87.5
396L [FI = 53] 55/ 108 19.5 88.5
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